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Given out: Thursday 17th March 2016  To be returned by: Tuesday 22nd March 2016
Visit our school blog: http://waalsy34.edublogs.org/
Make sure to check out our blog that we share with Year 4. We will put important information on the blog and pictures of the fantastic learning we have been doing.
Reading

If possible, please read at home each night. Thank you for filling in your reading diaries and for keeping them neat and tidy!  
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Challenge 2
Mrs Cheng has 6 bags of peanuts.

Each bag contains 140 peanuts.

She sells 200 peanuts. 

How many are left?

Hint: Find out how many peanuts Mrs Cheng had to start off with.
Jack has some apples and oranges.

He puts 23 oranges and 57 apples into each box.

He has a total of 5 boxes of fruit.

How many pieces of fruit are there altogether?
Tai saves 6 times as much money as Farha.

Ruby saves £18 less than Tai.

Farha saves £46.

How much money does Ruby save?

Hint: Find out how much money Tai has to help you find out how much money Ruby has.

Year 3 Homework





 


Example of bar models: 


The cost of one cinema ticket is £5.


Miya buys 4 tickets. How much money does she spend?





  �


 Then use repeated addition or a multiplication calculation to solve the problem.











 











Spelling-key words to learn this week are examples of plural words: children, houses, wishes, babies, women, men and teeth. 


See if you can use them in a sentence. 


� INCLUDEPICTURE "http://cdn8.staztic.com/app/a/2075/2075185/spelling-for-children-1-0-s-307x512.jpg" \* MERGEFORMATINET ���


Literacy -  This week was Shakespeare week in honour of his birthday! 


We found out lots of information about Shakespeare and learned about some of the plays he wrote. In our guided reading we also looked at summarising. 


Choose one Shakespeare play and write a summary paragraph to explain the main events that happen.





Maths- 


This week we have been looking at one and two step multiplication word problems. Choose which challenge you would like to do and solve the problems! 


Remember to draw the bar models to help you visualise the problem. 


Challenge 1


Mrs Cheng has 8 bags of peanuts.


Each bag contains 156 peanuts.


How many peanuts are there altogether?





Jack has some apples.


He puts 12 apples into each box.


He has a total of 5 boxes.


How many apples are there altogether?





Tai saves 4 times as much money as Farha.


Farha saves £32.


How much money does Tai save?








